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[ matchingl] OO OO OO [0 DE Version 23Section 1 is about the theft
happen in the street. The key words are West Street,where the thieves
' car is waiting there. An elderly women was robbed her wallet and
$50 in it, fortunately her is unhurt. A witness reported the robbery to
policeman.The young thief was 17, curly black hair, tall and slim,
whereas the elder thief is 35y/0, the distinguished feature is a small



scar in his chins. Section 2 is about the university resources. IN
library you can borrow books,cassettes, videos. The other key words
are book advance. There are 300 hundred students in the course, but
only 150 was new students. Teachers are mainly from United States,
South Africa and Australiall this should fill 3 in teachers’
nationality.Section 3 is telling the story of Wrighters Brother.
Wrighters Brother record can compare the data and found it was
completely wrong. They solved two problems:Wind Design by using
wind tunnels, and second problem I can’ t remember. At same time
In Sydney and New Zealand there are similar experiments. Section 4
IS about planning the trees. Firstly tell about the benefits of tree:
reduce windy, maintain humid, less dangerous etc. It keeps
temperature below 20 centigrade. It keeps low noise frequency pass
through. It evaporates water. Thee three factors for tree evaporation
are sunlight, water and room to grow. 100Test 0 O O O 0O O O [
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